INSTALLATION INSTRUCTIONS FOR INSTALLING A SAFETY GUARD REPLACEMENT KIT IN
A NATIONAL VENDORS®, CROWN SEVENTY TWO®, SERIES OR GOLDEN FURNITURE LINE 21CE-72
AND MODULINE, SERIES 21CE ELECTRIC CANDY MERCHANDISER

These instructions cover the procedure for installing a 5. Repeat Step A-4 for the No.3 (third from bottom)
Safety Guard Replacement Kit in a Crown Seventy Two, Tray.

Series or Golden Fumiture Line 21CE-72 and Moduline,
Series 21CE Electric Candy Merchandiser.

Read these instructions carefully and thoroughly
before installing the Kit. Retain these instructions for part
number and installation information.

Kit, Part Number 127-1096, contains the following
parts:

INSTALLATION OF THE KIT

1.

Install two Empty Switch Covers, Part Number
127-7016, included in the Kit, on the bottom of
the No.l Tray, as shown in Figure 1, using the
No.4-24 x 1/4 Pan Head Self Tapping Screws
removed in Step A-4. Tighten the Screws. Two
No.4-24 x 1/4 Pan Head Self Tapping Screws are
included in the Kit.

Part Number Description Quantity
2. Repeat Step B-1 for the No.3 Tray.
127-7016 o Empty Switch Cover 4
9900-129 *  No.4-24 x 1/4 PHS S/T Screw 2 3. Swing the Trays back in the Merchandiser.
1271095  Safety Guard 1 '
110-6656 *  No0.8-32 x 5/16 Carriage Bolt 2 4. Install the replacement Safety Guard, Part Number
9900-033*  No.8 External Tooth Lockwasher 2 127-1095, included in the Kit.
9900-034 +  3/8 x .170 x .032 Steel Washer 2
9900-031 *  No.8-32 Wing Nut 2 a. Place four No.8-32 x 5/16 Carriage Bolts, Part
127-0028 Switch Covers Label Assortment 1 Number 110-6656, removed in Step A-3,
127-1097 Installation Instructions 1 through the four holes in the Safety Guard as
*ox o shown in Figure 1. Two Carriage Bolts are
A In envelope stamped 127-0035 included in the Kit.
*In envelope stamped 127-0036
b. Place tape over the heads of the Carriage Bolts
TO INSTALL THEKIT to hold the Bolts in place.
pom WARNING c. Attach the Safety Guard to the “U” Shaped
To prevent a possible shock hazard be sure the three Channe! using four No.8 External Tooth
Selector Switch Terminal Covers which cover the Lockwashers, Part Number 9900-033, four
Switches on the three Selector Panel Assemblies are 3/8 x .170 x .032 Steel Washers, Part Number
in place. Selector Switch Terminal Covers, Part 9900-034, and four No.8-32 Wing Nuts, Part
Number 121.2034, can be ordered from National Number 9900-031, which were removed in
Vendors. Step A-3. Two Lockwashers. Steel Washers
——— and Wing Nuts are included in the Kit. Place
the External Tooth Lockwashers next to the
A. PARTS REMOVAL “U” Shaped Channel and place the Steel
Washers between the External Tooth
1. Disconnect the Merchandiser’s electrical Service Lockwashers and the Wing Nuts as shown in
Cord from the wall receptacle. Figure 1.
2. Unlock and open the Cabinet Door. d. Remove the tape from the Carriage Bolts.
3. Remove four No.8-32 Wing Nuts, four No.8 e. Adjust the Safety Guard by sliding the largest
External Tooth Lockwashers, four 3/8 x .170 x item to be vended down the Delivery Chute.
.032 Steel Washers, four No.8-32 x 5/16 Carriage Lower the Safety Guard to the minimum
Bolts and the Anti-Pilferage Guard from the height which will allow the item to drop into
Merchandiser. Destroy the Anti-Pilferage Guard. the Delivery Pan. Tighten the Wing Nuts.
4. Swing out the No.l (bottom) Tray and remove the 5. Peel one Switch Safety Cover Warning Label off

No.4-24 x 1/4 Pan Head Self Tapping Screws and
the two Empty Switch Covers from the bottom of
the No.1 Tray.

Copyright® 10-89
CRANE National Vendors

the Switch Covers Label Assortment, Part Number
127-0028, included in the Kit, and attach it to the
front of the No.1 Tray as shown in Figure 2.

1271097




6. Peel the other Switch Safety Cover Warning Label
off the Switch Covers Label Assortment, included
in the Kit. and attach it to the front of the No.3
Tray as shown in Figure 2.

7. Peel the Selector Switch Cover Waming Label off
the Switch Covers Label Assortment, included in
the Kit, and attach it to the Display Frame
Assembly Lower Horizontal Spacer as shown in
Figure 2.

WARNING

1. If the lower Selector Switch Terminal Cover is
missing from the Door, remove one of the upper
Covers and attach the Shock Hazard Label to

10.

11.

Peel the Shock Hazard Label off the Switch Covers
Label Assortment, included in the Kit, and attach
it to the lower Selector Switch Terminal Cover as

shown in Figure 2. See Warning below.

Close and lock the Cabinet Door.

Connect the Merchandiser’s electrical Service Cord

to a properly polarized wall receptacle.

Test vend the Merchandiser.

that Cover. Install the Cover over the Lower 3.

Selection Switch Assembly.

2. If one or more Selector Switch Terminal Covers
are missing, order the required number of Covers,
Part Number 121-2034, from National Vendors

Parts Department at once. install the Covers on
each Selection Switch Assembly that may be
missing a Cover.

National Vendors recommends that any 21CE or
21CE-72 Merchandiser that does not have a
Selector Switch Terminal Cover over the lower
Selection Switch Assembly be taken out of
service until the Selector Switch Terminal Cover
is installed properly.

20f4
127-1097




o

y 4 —
EMPTY
SWITCH
COVER

4‘ PHS S/T SCREW
0= 9900-129

NO.4-24 x 1/4

NO.8-32 x 5/16
CARRIAGE BOLT SAFETY
110-6656 GUARD

127-1095

NO.8 EXTERNAL 31
TOOTH LOCKWASHER 9900-0

9900033
U SHAPED 3/8 x .170 x .032
CHANNEL STEEL WASHER
9900-034
FIGURE 1

3of4

127-1097




SWITCH COVERS
LABEL ASSORTMENT
127-0028

;tl

N UM O 115 seLECTOR SWITCH CovER @ ;
HA Z YUl MUST ALWAYS BE IN PLACE @ '

THE SELECTOR SWITCH COVER BELOW
nusr ALWAYS SE IN PLACE OVER THE SELECTON SwiTcHES
T0 PROTECT AGAINST ELECTRICAL SHOCK

THE SWITCH SAFETY COVERS ON THE UNDERSIDE OF Twis TRAY
WARNING MUST ALWAYS BE IN PLACE
70 PROTECT THE HANDS OF CHILDREN AGAINST ELECTRICAL swocx]
r : THE SWITCH SAFETY COVERS ON THE UNDERSIDE of ™S T 3
a WARNING MUST ALWAYS BE IN PLACE
i TO PROTECT THE HANDS OF CHILOREN AGAINST ELECTRICAL SHOCK

REMOVE INDIVIDUAL LABELS o

AND ATTACH AS SHOWN

NNANNNANNANNANNANAANAN r\(\

THE SWITCH SAFETY COVERS O THE UNDERSIOL OF TMIL taay
.V" ALWAYS BE W PLACE
PRETECT (=11 AGAMST ELECTRICAL Iilt

WARNING

@TYPICAL FOR 1ST AND 3RD
DELIVERY TRAYS

SELECTOR SWITCH
TERMINAL COVER
(Grey Piastic)

LOWER DISPLAY
CASE COMPARTMENT

®

DISPLAY FRAME ASSEMBLY
LOWER HORIZONTAL SPACER

127-1097

FIGURE 2
40f4




